MOUNTAINS AND DESERTS

URAL MOUNTAINS

Name:

Class: Date:

Click or tick the correct answer

1)

2)

3)

4)

5)

6)

7)

8)

9)

In which country is the ural mountains located?
a) Egypt
b) Russia
¢) Canada

What’s the length of the ural mountains?
a) 2,400km
b) 8,200km
c) 1,300km

What’s the northern boundary of the ural mountains?
a) Arctic Ocean

b) Kazakhstan

c) Turkey

What’s the southern boundary of the ural mountain?
a) Arctic Ocean

b) Steppes of Kazakhstan

c) Atlantic Ocean

The Ural mountains separates the continents of
a) Europe and Africa

b) Africa and asia

c) Europe and asia

The ural mountain chain isdividedinto __ main divisions.
a) 4
by 7
c) 2

Which of these is NOT a division of the Ural Mountains?
a) The Polar

b) The Northern

c) The Eastern

The entire Middle Ural region is covered with
a) Dense coniferous forest

b) Dense equatorial forest

c) Dense tropical forest

How many parallel mountain chains are located south of the Middle Urals?
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10) How are the parallel mountain chains of question 9 above called?
a) Northern Urals
b) Southern Urals
c) Western Urals

11) What’s the highest peak of both the northern and southern portions of the middle
Urals?
a) The Konzhakovskiy Kamen
b) The Yiksvokahznok Kamen
c) The European Kamen

12) In which latitudinal located is the entire Middle Ural region located?
a) Latitude 31 degrees north to latitude 30 degrees north
b) Latitude 51 degrees north to latitude 50 degrees north
c) Latitude 61 degrees north to latitude 60 degrees north

13) Which of these is NOT a northern peak of the Ural mountains?
a) Mount Sablya
b) Telpos-1z
c) Mount Kazakhstan

14) What’s the height of the Konzhakovskiy kamen?
a) 1,571m
b) 2,439 m
c) 1,209 m

15) Important industrial area are located in the
a) Middle and southern Urals
b) Polar and Northern Urals
c) Middle and polar Urals
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